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No. 1 10.700 3.5 3.70 39.6 1.7 1.85 19.8 0.63 0.630 6.70
+ 1.000 1.000 3.5 3.50 3.5 1.7 1.70 1.7 0.63 0.630 0.60
& = m m3 m3 m2
- ) 22.800 87.3 43.8 14.30




a2 —rJ0yoET

JOvyis fRAD> 1) —k e

B =1 e BB #3350 0 28=18N/mm2 RC-40 5 *

(m) Wr m T B = Wr m T = Wr m T =
No. 0 + 2300 4.14 0.91 2.25 H=3.800
+ 7.900 6.100 414 4.140 25.25 0.91 0.910 5.55 2.25 2.250 13.73 H=3.800
+  7.900 3.91 0.86 2.10 H=3.600
+ 9.900 2.200 3.91 3.910 8.60 0.86 0.860 1.89 2.10 2.100 4.62 H=3.600
+ 9.900 4.14 0.91 2.25 H=3.800
+ 10.000 0.100 4.14 4.140 0.41 0.91 0.910 0.09 2.25 2.250 0.23 H=3.800
No. 1 10.900 4.14 4.140 45.13 0.91 0.910 9.92 2.25 2.250 2453 H=3.800
+ 0.700 0.700 414 4.140 2.90 0.91 0.910 0.64 2.25 2.250 1.58 H=3.800
H=2.535
H=2.300
H=2.300

& = m m2 m3 m3

- ) 20.000 82.29 18.09 44.69




K =7 U — p KEFHEZE
2

121

10. 0om 7= Y FHEE

a>9)— bk (ock=18N/mm2)

V=1/2% (0. 727+0. 727+0. 100%0. 1) *0. 100*10. 0 = 0.732 m3
R (—fk. DNEBEY)

A=(1.118+1.077)*0. 100%10. 0 = 2.195 m2
B (EF Mk#EE, t=10mm)

A=1/10%0. 732 = 0.073 m2




E@g =7 ) —F HEHNEE
Z

JoyoEs

RC-40 100 430 LOO N EBa Y-+

o ck=18N/mm2

10. 0om 7= Y FHEE

a>9)— bk (ock=18N/mm2)
V=(0. 430%0. 250-1/2%0. 330%0. 150) *10. 0 =

R (—fk. DNEBEY)
A=(0. 250+0. 100) *10. 0 =

EEERA (RC-40, t=200)
A=0. 630%10. 0 =

B (EF Mk#EE, t=10mm)
A=1/10%0. 828 =

0.828 m3

3.500 m2

6.300 m2

0.083 m2




1 5 /0 ik T % B F H #F
K x O =1

N/ -, avoy—4p
w7 S, o ck=18N/mm2
t=30cm

4250

1.0 7= h FEE

a>9)— bk (ock=18N/mm2)

V=1/2%(0. 727+1. 152) 4. 250%0. 300 = 1.198 m3
R (—ik. BHBEY)
A=1/2% (0. 727+1. 152) 4. 250%2+1. 118x4. 250%0. 300 = 9.411 m2




T
ot
B e BB &\, #2200 5 *
(m) Wr m T B =
No. 0 - 0.600 0.00 H=0.000
+ 2000 2.600 4.75 2.375 6.18 H=4.250
No. 1 + 10.000 4.75 H=4.250
+ 12.600 2.600 0.00 2.375 6.18 H=0.000
& £ m m2
5.200 12.36




iz T

gl | W% 5 7t B B & @
THEMEKLT 13. 13.
(—XXH7=n)
KH+D 5 B AKT (RC-40) ES 3. 3.
s+ fiE A4 (RC-40) 0.8X3. 0+5.2X2. 0+(5.2+0. 0) X 102 n’ 38. 38.
[gire RC-40 2.5X13.0 mZ 39. 39.
K T 30. 30.
(1XH7=n)
IR HEAKE EEER ) xfV g 30.
¢ 500 15.0
¢ 500 (HEER SCHRER A L4V t=300L4 |k 15.0
PEHI 0.6 X 15 9.0
5L 0.4 X 15 6.0
KAEED S i A (RC-40) £ 8. 8.
ANIE%) I KT (RC-40) 1.0 = (0.35%0.13) 1% 22. 22.




